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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x7=7
oS TAl ehiraEe Beq g g

(@) Write the electronic configuration of Cu
and Cr.

Cu OIF Cr #2319 4561@ =g /i Bt |

(b) Mention the state of hybridization
present in BF3 and BeH, molecule.

BF3 W% BeH, 99 75[% 23 J¢3<¢ SRZICH!
S 41 |
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(¢) What do you mean by lattice energy ?
@or *f& o= & 3=0

(d) Give the significance of y and y? used
in Schrédinger equation.

2 foaEe AT TS G0 v S w2-3 A
f&e

(e) What is rms speed of gas molecules ?
(=] T9F rms @ FIF QAN ?

(/ Which series of hydrogen spectrum is
observed in the visible range ?
R o TR RIS T P (AR
TS (Rl A

(g9 How does surface tension of liquid
change with temperature ?

O SIS “B 43 TagelR (TS R A
27?

Answer the following questions : 2x4=8

wore fral emrares Te foral ¢

(a) Define Hund’s rule. Give examples.
7y’ oot /e Swnigael a1
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(b)

(c)

(d)

Melting point of BeCly is 405°C,
whereas melting point of CaCl, is
782°C. Explain the fact with the help
of polarization.

BeCl,-3 5#I5® 405°C, {8 CaCly-3 omis
782°C| % Bf&TH TS (polarization)

LS e forait |

Explain why CO,; becomes a non-polar
molecule.

CO, «bl T[T 99 [F7 7 =y et |

Mention the conditions at which ideal
gas deviates from ideal behaviour.

o & sfaffes @b s (ol oS o o|
fapre = foran |

Answer any three questions from the

following :

9%3=15

R [l fofabr 2w Tel e ¢

(@)

(i) Give Schrédinger’s time-
independent equation and
explain all the terms involved in
the equation. 3

G2 AT TS (211 AfSrst 2 or
£l
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(b)

(c)

(d)

(e)

(i) Define radial and angular wave
function of H atom. 2

H %R @fOre ois qrasiiq wags)
T el fam |

Give the characteristics of the process
of hybridization. Discuss the formation
of CoH, with the help of hybridization.

2+3=5

IR ARGT (AFBICAT 1l | o H, W 1o
B R AGGT Gl A 34 |

What is hydrogen bonding ? Discuss
with examples different types of
hydrogen bonding present in molecules.

2+3=5

ZRG T AN 2 wqrEEe o [fen wqom
2R oW AEmT RE B |

Discuss different postulates of kinetic
theory of gases. 5

(o1 SIS T et

Discuss the method of calculation of
surface density by drop number
method. 5

S35 AR S[PBI SIS A IZS (BIAT FLH
Ao Rarm B
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Answer any three questions from the

following :

10x3=30

SoT® w2l 2HICAIRE o1 Rizpicant fofnt =R Seg 3Rl ¢

(@ @)

)

(b) (i)

(i)

What is quantum number?
Explain all quantum numbers with
suitable examples. 2+4=6

(FRTIBIN T I (051 2 SARAPTZ 3
SR e fovn |

State and explain Pauli’s exclusion
principle. 1+3=4

ACeTiy ity NS &2 goma v

Explain  the concept of
electronegativity with the help of
Mulliken scale. 4

Rresrer R I @k Tawe
foralt |

Give the principles of VSEPR
theory. Explain the shape of PCls
and H>O molecule with this theory.

3+3=6

VSEPR =% 31 $9@[ &4t | PCL o
HyO B9 4157 3 M6 s1iare vyt 3041 |
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(c) (i) Explai
plain the he: ’
ionic e (e) () Define viscosity of solution
compounds using Bo - y ! ] !
Haber cycle rn- Explain the determination of
o ] 6 viscosity of liquid by Ostwald
-(2319 5@ IR S method. 2+4=6
e e =) R e AEel IS o SBAE AT
(i) Explain Faj memﬁﬁﬁﬁﬂﬂﬁ\
ajan’ s
covalency Jin izr:ilecdescnbmg 120 (i) What is heat capacity of gas?
ompounds. What are the common types of
4 heat capacities ? 2+2=4
SR (s AN
A FroeE cﬂﬁwmﬁwm@wﬁm
49 RS farer |
() Define and explain the following terms :
d .
(d) (i) State and derive ex . e AR R fopal =i NG A
for o Prapaigns ; : 2
critical constants from (i) Average kinetic energy of gas
van der Waals’ equation. A molecule 3
CIH-BIF-IETE A (ol SF T8 aifenif&
1 AR ferloea
31?1??(.:1::3 R e o 2R R (ii) gzgéesntage jonic character oi
(i) Defi AFRR I TR of
efine fec, bec and simple cubi i Hyvd . 3
system of solid. : (i) Hy roge:a:ltom ine tiﬁp;ctra
e ZRgre 3 AT a
M fee, bee TIE FYRE TR
sfmhet Fce | :
S
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